Inference at * 1
of proof for Lemma complete_nat_ind_with_y:

F(AP,g. Y\ f,x. g(z.f))) € (VP:(N — P{k}). (Vi:N. (V5:Ni. P(j)) = P(i)) = (Vi:N. P(i)))
by ((MemberEqCD)
CollapseTHEN (IfLab ‘subterm’
((MemberEqCD)
CollapseTHEN (
IfLab ‘subterm‘ Id (Auto_aux (firstnat 1:n) ((firstnat 1:m),(first_nat 3:n
)) (first_tok :t) inil_term)))-
(Auto_aux (first_nat 1:n) ((first_nat 1:n
),(first_nat 3:n)) (first_tok :t) inil_term)))-

1. ... subterm..... T:tl:n
1. P: N— P{k}

2. g : Vi:N. (Vj:Ni. P(j)) = P(i)
FY(Af,x. g(x,f)) € (Vi:N. P(i))

http://www.nuprl.org/FDLcontent /p0-942988_/p121_-93198_{complete_nat_ind_with_y}1.html



